VCE & PDF https://www.pass4itsure.com/5v0-22-23.html
g 2024 Latest passditsure 5V0-22.23 PDF and VCE dumps Download

PassditSure.com

5V0-22.23084As

VMware vSAN Specialist v2

Pass VMware 5V0-22.23 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/5v0-22-23.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

5V0-22.23 PDF Dumps | 5V0-22.23 Study Guide | 5V0-22.23 Exam Questions 1/4


https://www.pass4itsure.com/5v0-22-23.html
https://www.pass4itsure.com/5v0-22-23.html
https://www.pass4itsure.com/5v0-22-23.html

. VCE & PDF https://www.pass4itsure.com/5v0-22-23.html
g 2024 Latest passditsure 5V0-22.23 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1
Refer to the exhibit.

An administrator uses SSH to log into a vSAN ESA host and runs theesxcli vsan debug object overviewcommand.

Healthy
Cbiect TTID Group UUID Versicn Size Used APEM Pxofile Cempanents
$91:3£6:!-81bd‘qnba-:bus-C:scSEDtSkc 1a413£62-a8cl-Lafb-0209-0050560655c0 17 o0.12 GB 0.01 GB wvSAN Default Storage Policy 7of 8
lc4]13Lé63=4cia=T3Dc~504€-005C8¢0€59cC lad)3243-a8dl~-Tafb-0809-005C560489c0 17 2.00 GB 0.70 GB vSAN Default Storage fclicy Sor @
10413063-0001-10fD-0L00-0050560659c0 ‘a413263-a8d1-2afb-0005-005C560655¢0 17 255.00 GE 0.05 GB wSAN Default Storage Pelicy 4o0f8
cL403£63-eacs5-dnel-0599-00505€0659597 cf403262~eecS-da4l-9595-005056065597 17 255.00 GE 0.04 GB vSAN Default Storage Policy Toft
d0403263-27aL-45cd-2eBa-0050860£5997 cf403263-vacS-dadi-2509-005056065997 17 1.00 GB 0.70 GB vSAN Default Storage Policy 7ot
ef403£63-Le D-CEL0-544L-00505C0€5597 <cf400£6)-eec5-dadl-0580-0050560655897 17 0.22 CB 0.01 GO wSAN Default Stozage Policy 5o0f 8
ae413L631-4ca4-TBE2-1050-005056065979 dAb413£61-4ca4-7282-1050-005056065579 17 255.00 GB 0.12 GB wvSAN ESA Default Paolicy - RAIDS @ of 8
dd413£63-2003-9290-6093-005056065979 dAb413ILEI-4cad~-TE02-108C-00505€6065579 17 10.00 GB 0.01 GB wvSAM ESA Default Pclicy - RAIDS S of @
e2413£63-4072-62cf-2077-005C560€597F db4)I£63-4cad=T082-1DE0-005C56065979 17 4.00 GB 0.01 GB +35AN ESA Default Folacy = RAIDS 8 of &
£0403£63-067T=2500-cDMAE-005056065979 0403263 -0£77-2501-A246-005056065579 17 155.00 GR 0.05 GR vSAN Default Storage Policy Tef8
0d413£63-8c88~h219-32E6-00505€60€5979 £0403163-2677-£501-A24€-005056065979 17 0,12 GB 0.01 GB wSAN Default Storage Policy 4 0f 8
£1403£€3-365F-559¢~81€5-00505€0€5978 0403263677 -850f-db4€~-005C56065979 17 2.00 GB 0.72 GB +SAN Default Storage Policy 4 cf 8
£4403063-2023-202C9-ea92-00505€0€59D1  £44903163-30e3-05C4-2d92-0050560655D1 17 255.00 GB 3.%1 GD Vv3AN Default 3torage Policy Sot 9

The administrator notices the Healthy Components column, the last column, is reporting some components are not in a
fully healthy state.

What could cause this behavior?

A. New physical disks have been claimed and a rebalance operation is underway.

B. The applied Storage policy has been updated.

C. New VMDKs have been added to multiple VMs, but the storage policy has not finished applying.

D. One host is in maintenance mode with ensure accessibility.

Correct Answer: D

Explanation: The most likely cause for some components to be not in a fully healthy state is that one host is in
maintenance mode with the ensure accessibility option. This option creates temporary durability components on other
hosts to maintain the required number of failures to tolerate (FTT) until the original components are restored or rebuilt.
These durability components are not considered fully healthy because they do not have full redundancy and might not
be compliant with the storage policy. The other options do not explain why some components are not fully healthy, as

they do not affect the FTT or the compliance state of the objects. References: Durability Components; esxcli vsan debug
object overview

QUESTION 2

An administrator has deployed a new vSAN OSA cluster that contains eight hosts and needs to configure a storage
policy for the currently deployed database virtual machines. The requirements state that if two hosts in the vSAN OSA
cluster fail, all virtual machines are unaffected.

Which RAID configuration must the administrator use in this storage policy to achieve the best performance for the
database virtual machines?

A.RA1D-1

B. RAID-5
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C. RAID-6
D. RAID-0
Correct Answer: A

Explanation: To achieve the best performance for the database virtual machines and tolerate two host failures in a
vSAN OSA cluster, the administrator must use RAID-1 as the RAID configuration in the storage policy. RAID-1 is a
mirroring technique that creates multiple replicas of each object across different hosts. RAID-1 provides the best
performance among the available RAID configurations, as it does not involve any parity calculations or stripe splitting.
To tolerate two host failures, the administrator must set the Failures to Tolerate (FTT) policy to 2, which means that
each object will have three replicas. The other options are not correct. RAID-5 and RAID-6 are erasure coding
techniques that split each object into data segments and parity segments across different hosts. RAID-5 can tolerate
one host failure, while RAID-6 can tolerate two host failures. However, both RAID-5 and RAID-6 have lower
performance than RAID-1, as they involve more complex calculations and network traffic. RAID-0 is a striping technique
that splits each object into multiple stripes across different hosts. RAID-0 does not provide any data redundancy or fault
tolerance, and therefore cannot tolerate any host failure. References: RAID Configurations, FTT, and Host
Requirements; RAID 5 or RAID 6 Design Considerations

QUESTION 3

Which vSAN maintenance mode option should be used to avoid storage policy non- compliance?

A. Ensure accessibility

B. Partial maintenance mode

C. Full data migration

D. No data migration

Correct Answer: C

Explanation: To avoid storage policy non-compliance, the vSAN maintenance mode option that should be used is Full
data migration. This option evacuates all data from the host to other hosts in the cluster and maintains the current object
compliance state. This means that the VM objects will have access to all their replicas and will be compliant with their
assigned storage policies. The other options might result in storage policy non- compliance, as they do not guarantee
full data redundancy or policy adherence. Ensure accessibility only migrates the components that are essential for
running the VMs, but might not have access to all their replicas. Partial maintenance mode is not a valid option for vSAN

clusters. No data migration does not evacuate any data from the host and might result in VM unavailability or data loss.
References: Working with Maintenance Mode; Place a Member of vSAN Cluster in Maintenance Mode

QUESTION 4

The Resyncing Objects view in the vCenter Ul reports that some objects are currently resyncing. Which two actions
would cause this situation? (Choose two.)

A. A change to the storage policy is applied to the objects.
B. DRS is relocatingVMs between vSAN nodes.

C. A host failure occurs in the cluster
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D. HA Virtual Machine Monitoring forced a VM to reboot.
E. VM snapshot is being deleted.
Correct Answer: AC

Explanation: Two actions that would cause some objects to be currently resyncing are: A change to the storage policy is
applied to the objects. This action triggers a resynchronization of objects to make them compliant with the new policy
settings, such as FTT, RAID level, stripe width, etc. The resynchronization process copies data from one host to another
to create or update replicas or parity segments. A host failure occurs in the cluster. This action causes some objects to
become non-compliant with their storage policy, as they lose one or more replicas or parity segments due to the host
failure. The resynchronization process rebuilds the missing components on other hosts in the cluster to restore
compliance and availability.References: : VMware vSphere Storage Guide, page 129 : Monitor the Resynchronization
Tasks in the vSAN Cluster 1 : VMware vVSAN Specialist v2 Exam Preparation Guide, page 13

QUESTION 5

An organization wants to implement a virtual desktop infrastructure (VDI) solution on their vSAN storage. They also
need to store their applications running inside the VDI environment on vSAN storage. Which two end-user computing
(EUC) solutions could be implemented to satisfy the requirements of the organization? (Choose two.)

A. Agp_ Volumes

B. Workspace ONE Access

C. Horizon

D. Workspace ONE UEM

E. Dynamic Environment Manager

Correct Answer: CE

Explanation: Horizon and Dynamic Environment Manager are two end-user computing (EUC) solutions that can be
implemented on vVSAN storage to provide a virtual desktop infrastructure (VDI) solution and store applications running
inside the VDI environment. Horizon is a platform that delivers virtual desktops and applications across a variety of
devices and locations, while Dynamic Environment Manager is a tool that provides personalization and dynamic policy
configuration across any virtual, physical, and cloud- based Windows desktop environment. The other solutions are not

directly related to VDI or application storage on vVSAN. References: VMware vSAN Specialist v2 EXAM 5V0-22.23, page
8, Objective 3.5; [Horizon]; [Dynamic Environment Manager]
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